PreCalculus Notes





Name ___________________________________
Unit P, Day 2






Date ___________________ Period ___________

I.  Interval Notation

Interval Notation is a more “grown-up” and convenient way to write inequalities (as opposed to set-builder notation).

In interval notation, always list the smallest number first, then the largest.  Enclose the numbers with () if “not equal to” and [] if “equal to”.

OLD WAY:





NEW WAY:

{x|x > 7}





__________________________

{x| x ≤ -2}





__________________________

{x| -3 < x ≤ 8}





__________________________

{x|x = 
[image: image5.png]


}





__________________________

II.  SOHCAHTOA
[image: image1.wmf]Â

1. Solve the triangle ABC, given that A = 35° and c = 15.67.
2.  While on a walk, Josette sees the WRAL traffic helicopter flying over the beltline
 located 3 miles away from her.  If the angle of elevation from Josette to the helicopter is 47°, find the altitude of the helicopter.
3.   You decide that you NEED to know the height of Broughton’s bell tower, so you go outside on a sunny day and measure the shadow of the bell tower to be 50 feet long and the angle of elevation to the sun is 53°.  What is the height of the bell tower?   

III.  FACTORING:

4.  x2 + 5x + 6


5.  3x2 – 18x + 24

6.  2x2 + 5x – 1

7.  3x2 + 2x – 16
8.  x2 – 25 


9.  x4 – 16 


10. 4x3 + 100x2

11.  16x2y – 36y  

Factor using synthetic division:  

12.  x6 – 1 




13.  x3 – 64



14.  x3 + 2x2 – 3x – 6 

IV. SOLVING:

Solve by factoring:

Solve by Quadratic Formula
Solve for the exact answer by completing the square 
15. 
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Solve using synthetic division:
18.  x3 – x2 – x – 2 = 0
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